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1w ™ 3M 6M 2020E 2021E 2020E 2021E 2020E 2021E
KOSPI 0.1 8.6 16.0 295 19.7 19.7 1.2 1.2 1.6 1.6
(%) —— K| E KT ——LGRE3A
SHUEE 0.3 6.8 36 12.4 1.1 1.1 0.7 0.7 41 41 5o
SKE2= -0.2 7.6 1.0 19.7 145 10.5 0.8 0.8 41 43 1
KT 26 7.7 8.1 7.0 9.2 79 0.5 0.4 45 47 “
LGREZA -0.4 35 1.3 -3.7 6.8 7.8 0.7 0.6 3.6 38 42
AT&T -5.2 38 16 -3.0 95 9.3 1.1 1.2 7.1 72 3g
Verizon 0.2 0.7 0.2 7.7 12,5 12.1 36 32 41 42
T-Mobile 0.5 1.7 19.1 23.6 471 417 24 25 0.0 00
NTT Docomo 0.0 0.1 438 335 21.2 20.3 24 23 3.1 29 30+ w w w
19.12 '20.3 '20.6 '20.9
KDDI 25 -0.7 10.2 -3.7 1.1 10.6 1.6 15 38 40
Softbank 5.6 23.8 27.6 52.4 N/A 9.1 2.1 2.1 0.5 0.5 SKT 33.9%(-0.1%p WoW, -0.1%p MoM)
China Mobile 2.8 -3.0 -13.2 -16.0 7.3 7.2 0.7 0.7 7.6 7.8 KT 44.0% (+0.1%p WoW, +0.3%p MoM)
China Unicom 53 48 204 25 92 8.1 0.4 03 43 48 LBU* 30.8%(-0.4%pWoW, 03%pMoM)
China Telecom 56 -46 -9.6 0.9 7. 6.7 0.4 0.4 59 g4 OKTHBLGREHSIRCIXES e0li=2 Het

Xt&E: Bloomberg, HEZ| =53 2| M| ME]
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3%t A2t & Heo|Q HI|&0[9 EBITDA EV/EBITDA (tl) ROE (%)
(M) (E3h e 2020E 2021E 2020E  2021E| 2020E  2021E| 2020E  2021E| 2020E  2021E| 2020E  2021E
3= EEE 246,500 18.1 17.0 17.9 12 13 12 17 49 5.1 55 53 56 7.4
KT 25,300 6.0 219 226 1.1 12 0.7 0.8 45 46 25 25 5.1 58
LGREaA 11,850 47 12.2 128 08 0.9 0.7 0.6 3.0 32 33 3.1 102 8.3
o= AT&T 29.4 209.5 170.7 173.2 29.7 313 21.1 222 55.0 56.0 6.9 6.8 122 126
Verizon 60.5 250.2 128.2 133.0 29.2 31.7 18.7 208 46.8 487 76 7.4 288 273
T-Mobile 1319 163.7 70.1 77.8 71 8.2 33 40 244 26.9 9.4 8.5 6.5 6.0
U= NTT Docomo 3,880.0 1212 434 442 8.0 8.6 55 59 136 142 8.6 8.5 1.2 1.7
KDDI 3,022 67.4 486 50.6 97 10.1 59 6.3 15.7 16.9 50 48 149 144
Softbank 8,354 169.0 57.1 58.8 -126 114 7.1 16.2 56 209 46.4 129 -11.3 230
== China Mobile 456 1203 1158 1196 175 174 16.4 16.6 441 448 13 13 96 93
China Unicom 46 18.0 46.0 477 20 22 20 23 147 15.1 13 13 40 45
China Telecom 23 237 59.3 61.8 45 47 32 33 18.1 186 19 18 59 6.1
XtZ: Bloomberg, M2l =33 2| X[ ME]
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